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29.

30.

The cell which is formed after fertilization is called —

(a) Embryo (b) Baby fetus

(c) Zygote (d) Ege

AT Y1 @ i 5P e 3 oI I -

(a) = (b) Fo=

(c) =ixTsie (@) &=

. Puberty is considered —

(2) 5-1C years (b) 11 —19 years

(c) 22 - 28 years (d) None of these

(@) 5-10T== (b) 11 -193z==

(c) 22 - 2837 = (@) ==t sw

What is the number of chromosome in human cell ?

(a) 23 (b) 46

(© 22 (d) 30

THIACFTT GRITSICETY 31 59 9

(a) 23 - (b) 46

(c) 22 (d) 30

Who discovered penicilline ?

(a) Edward Jenner (b) Alexander Fleming
(¢) Louis Pasteur (d) Robert Koch
RS e wiRem Tmm '
(a) g©enrs cEam (b) =ETTTEE g
(c) TR =ram (d) iy -
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Group—B

i 10=20
Answer the following questions :— 2x
Sreea epoTEA ACHT TEA WIS =

31.

32.

33.

34.

< ot

36.

37.

A simple pendulum completes 20 cycles in 40 seconds. What
s the value of its time period and frequency ?

o 7 e 40 GTeTs 20M6 oem 77 S | AR ASHFE
GRIFRF IO ?

What is CNG ? Give one of its uses.
CNG T 2 ua «3i6 324 et |

Why football players use shoes with spike ?
Fo3E -CATARGA “HARITTE TGO 2T (54 ?

Radius of Jupiter is 11 times more than earth. What is the ratio
of their volumes ?

qifen TP A% IR 11 oot | =S @3k <ffITE =we=E

THATS TS ?

4.5 kg of a fuel produces 1800 KJ heat. Calculate its calorific
value.

4.5 @i g sepe wars 1800 fRarge ©ivl Seei 20 1 @ grElag
Stof-3e0 efa 3t |

What is vermicomposting ?
SIfRFT=IITHR I A 2

Why is it necessary to take nutritous food during puberty ?
JUSHHICH T g S T T A 2
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38. Write two differences between plant cell and animal cell.
Siewrin 8 NI 7o oy ot |
Write two reasons of decreasing the beauty of Tajmahal ?

SENEETE S G IR SR T Y Fo et 0l |
why the walls of a dam are thickcr‘ ﬂéar the bottom

39.

40. Explain
than at the top ?
(I TEAHITRR IR mwmwmﬁewww Cfot

A ?
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